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2017 A .
IRRIGATION ENGINEERING

freffa T ) . o . (it %70
~ Time allowed : Three Hours] . ‘ [Maximum Marks ; 70

A () IR I AR &, 9 F G o ol & I
. Note: - Question No. 1 is compulsory, answer any FIVE questzons Jfrom the remaining.
(i) T 97 & Y T ) AR v e e N |
Solve all parts of a question consecutively together.
(m) YR 597 %1 79 98 & Wreey Ed |
Start each question on fresh page.
(iv) gl STt 7 St g #) Rl F sl sgare f v # 4

Only English version is valid in case of difference in both the languyages.

1. % agedismdta .
Answer the following in brief :
(i) TSI ) YE wEe
~ Principal crops of Rajasthan
(i) forve femmd
Lift Irrigation
(ifi) O HET
- Alignment of Canal
(iv) T E e viEe e
Problems of Sediment transport in canal
(v) FIA T SEaeH UF _
Cone of depressions in wells . ,‘ (2x5)
(Lofd) | ~ RTO.
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Explam Hydrologic cycle with sketch.
yaTE & i JrqaTe & 29 w0 e § ?mmmmﬁﬁtmt ?

What do you understand by run-off in a catchment ?0On what factors it  depends-

®

(ii)

®

(ii)

(i)

(i)

7?7 (6+6) .

74 wara e o et T |
Explain methods of gauging of stream flow.
sl 3 Fafe YR waEe § T w0 99w 6 faftr e

ﬂlustr‘até‘ various types of dams and explain its site selection methodology. (6+6)

ity e e 35 e Rt TR |
Explain the Kennedy’s and Lacey’s silt theory.
7 e vl 6 st el |

Write down the objectives of river training works. | (6+6) -

mk—mﬁmwmﬁ ?mwﬁammmmm
H |

What do you understand by ‘Diversion-Head Works’ ? Explam function of each
component with layout plan.

et e ) fream | wweed |
Explain in detail the water-logging. ' : (6+6)

e T

®

Explain with sketches :

Teeq aly
Gravity Dam

(i) s e

Guide Bank - " (646
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‘What is meaning of cross dramage works ? Explain syphon aqueduct with
diagram.

(i) &I ToET T B TORET W1 R W SRy w1 avie SR |

Describe the working of cav1ty tube well and strainer tube well w1th the help of
sketches | (64-6)

8. Frerwcafim Rovmt fiRed
Write short notes on the following :
() e ul % fike 87 F wR0
Causes of failure of earthen dam
(i) T
Symon’s Rain gauge .
(iii) e T |
Silt ejector i 4x3)
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